HOOKER® ASSEMBLY INSTRUCTION

——FURNITURE —
Item: 6202-90667 DKW Jackson 6/0-6/6 Headboard-Footboard-Slats
6202-90653 DKW Jackson 5/0-6/6 Rails
6202-90SHORT Jackson Shorts Posts

Thank you for purchasing this quality product. Be sure to unpack carefully looking for small parts which may have

come loose during shipment.
Read all instruction and study the drawing carefully before starting the assembly process:

HARDWARE PACK HARDWARE PACK
6202-90667 DKW 6202-90SHORT

NO DRAWING | DESCRIPTION SIZE QTY NO |[DRAWING | DESCRIPTION SIZE QTY

A @9y | Screw 8#*1" 10pcs Threaded Rod | d5/16"*4-1/2" | 4pcs
Nut 25/16"*12 10pcs
Lock Washer | @5/16"x12x3 | 12pcs

6202-90653 DKW

NO DRAWING | DESCRIPTION SIZE QTY Curved Washer |L32*13*8 10pcs

™ —mp |Threaded Rod | ©5/16"+4-1/2"| 8pcs Hexagonal Bolt | ®5/16"<1-1/2"| 2pcs

Nut 05/16"12 | 8pcs Threaded Rod | 5/16"%2-1/2" | 6pcs

@gi‘@@@i

Flat Washer @5/16"x19x2 | 2pes

Lock Washer D5/16"x12x3 8pcs

m M| g w

®

S

{@ Curved Washer |L32*13*8 | 8pes
s— |Hex Wrench 12MM Tpcs

Step 4

T Suyi)ort Leg

N \6{\/ 7y N Qé\xa- Glide
S @, \. -Adj.
Step 2 /«frqu% - \_\\\\ 3 //,/




